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[AlFR1] #HhéAHo2ERADLMMEFREFE-IIERATIEMBICLSIABESE

IO -EREE A # IO -EREE A

- 1,000 m Al 1 Rk 16,000 mi LA I 18,000 mi Al 11 AUk
1,000 nibh k= 2,000 oiAdii 2 Lk 18,000 nill I 20,000 i A 12 nl Lk
2,000 mil E 3,000 oA 3 ALk 20,000 mLA E 25,000 m A 13 Ak
3,000 nill k 4,000 nd A 4 ALk 25,000 niPh k= 30,000 i A 14 Bk
4,000 m LAk 6,000 i A 5 ALk 30,000 mLA E 35,000 mi A 15 Ak
6,000 nfPh & 8,000 i A 6 HLlL 35,000 niPh k 40,000 i A 16 B2l L
8,000 m A I 10,000 mi Al 7 ALk 40,000 mPh k- 45,000 m A 17 Ak
10,000 nill I 12,000 ndA:fifi 8 AL 45,000 miPh k= 50,000 i A 18 Bl
12,000 mi LA | 14,000 m Al 9 Bk 50,000 mLA k- 55,000 m A 19 AUk
14,000 nill I 16,000 nfAfifi 10 B2k 55,000 niPh k 20 ALk

[(FIF&2] HhtHbl0BRRNOBMZEMAT SEEICESOAKESE

BYOFREEE ¢ BYOFREEE 0 #®
- 20,000 nf A 1 Ak 200,000 nfLh E 220,000 nifi | 11 OBLE
20,000 nfLL E 40,000 nf A 2 Nk 220,000 nfLA 240,000 niAii | 12 ALLE
40,000 nilk = 60,000 niAii 3k 240,000 nfl E 260,000 niAi | 13 MPLE
60,000 nfLl l- 80,000 niAiifi 4 NPk 260,000 nfA = 280,000 niAifi | 14 ALLE
80,000 nilk = 100,000 niAii 5 Ak 280,000 nfll k= 300,000 niAi | 15 HLLE
100,000 nfLk l= 120,000 niAiifs 6 MLk 300,000 nf2A 320,000 niAi | 16 ALLE
120,000 nilk = 140,000 niAii 7 Ak 320,000 nfll k340,000 niAi | 17 OPLE
140,000 nfLl l= 160,000 niAiifs 8 Nk 340,000 nfA k= 360,000 niAif | 18 ALLE
160,000 nilk = 180,000 niAii 9 Nk 360,000 nfLl | 380,000 niAi | 19 MLLE
180,000 nfLl = 200,000 niAdii = 10 ALLE 380,000 niLA I 20 ALl E
KETEE DS HOEHIEEE L2205 813, TRLOR ¥ - w a0 0 s
[EEIH:0Y T A #% EAEEROEHE o #%
10,000 nf2A k20,000 nf A 5 RN 10,000 nf2A k20,000 nf A 1 roms
20,000 nflL 30,000 nfRi 10 AA0E 20,000 nf2A £ 40,000 nf A 2 AhnE
30,000 nflL = 50,000 nfRi 15 AMNE 40,000 nfLl k= 60,000 niAiifs 3 PN
50,000 nflh k 20 OhnE 60,000 nfLl k- 4 DN




[AIR3] #HeAbL2BRAOENZEEEEY SERICLIOHELE

(1) BERMER

(2) fERkEX

BYnEEEEmE A # BYnEEEEmE A %

- 10,000 o A:fif 1 REE — 10,000 o A:fif 1 REE
10,000 miLA | 20,000 m A 6 ALk 10,000 miLA | 20,000 m A 2 ALk
20,000 niPh k 30,000 i A 12 nlk 20,000 niPh k 40,000 i A 4 ALk
30,000 mLA E 40,000 m A 17 AUk 40,000 mPh k- 60,000 m A 6 ALk
40,000 miPh k= 50,000 i A 18 Bk 60,000 niPA k= 80,000 mi A 8 AL
50,000 mLA E 60,000 m A 23 AL E 80,000 mEA L= 100,000 mi Al 9 Bk
60,000 miPA k 80,000 mi A 24 APk 100,000 nfPl Ll 120,000 nf A 10 B2k
80,000 mEA L 100,000 mi Al 25 AL E 120,000 mih k= 140,000 oA 11 AUk
100,000 nfPl Ll 120,000 nf A 26 ALk 140,000 niZl L 160,000 nf A 12 nl Lk
120,000 mih k= 140,000 oA 27 ALk 160,000 mil | 180,000 miAiii 13 Ak
140,000 niZl L 160,000 nf A 28 ALk 180,000 nill I 14 Bk
160,000 mil | 180,000 miAii 29 ALk
180,000 nill k= 30 ALk

(3) ZDthfEER
BYoOmA - EEEEMER A # BYoOmA - EEEEER A #%

- 20,000 m A 1 Rk 200,000 LA 220,000 m Al 11 AUk
20,000 niPh k 40,000 i A 2 Lk 220,000 nfLh £ 240,000 niAdif 12 nl Lk
40,000 mPh k 60,000 m A 3 ALk 240,000 LA 260,000 m Al 13 Ak
60,000 miPh & 80,000 mi A 4 ALk 260,000 nfLA £ 280,000 miAiif 14 Bk
80,000 mBA L= 100,000 mi Al 5 ALk 280,000 miLA = 300,000 m Al 15 Ak
100,000 nfPl Ll 120,000 nf A 6 HLlL 300,000 nfLA £ 320,000 miAii 16 B2l L
120,000 mil k= 140,000 oA 7 ALk 320,000 LA 340,000 m Al 17 AUk
140,000 niZl L 160,000 nf A 8 AL 340,000 nfLA £ 360,000 miAdi 18 Bl
160,000 miZl | 180,000 miAii 9 Bk 360,000 LA = 380,000 m Al 19 AUk
180,000 niZl L 200,000 nf A 10 B2k 380,000 nilh k= 20 ALk




